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Paper : Investment Management
Time : 3 Hrs Max. Marks : 80

Instructions: Be33n<:

1)  Answer all the sections according to internal choice.
0308 Lo 38,08 DT DNNL YOZOA.

2) Use of simple calculator is allowed.
T FYLSBEIT WHROO BIRIAT.

3) Section-D Case Study question is compulsory.
Qgni-2 BI00 SHEHS BB SEDTNT.
SECTION-AQzen -
I. Answer any TEN of the following. (10x2=20)
31 38ASHRLQ Bewon B, YwID2O.
a. Whatis Investment ?
BRRT Q0WTER ?

b. What is Systematic risk?
DR STOD QOTTE?
c. Whatis Speculation?
23, (WD) THFHT R0WTe?
d. State any two common features of bond.
WOOTTR O3DR)TTTOL TR BTV, OTFLINET), SFA0.
e. Whatis Coupon rate?
BB BT N0WTe?
f.  What do you mean by Top-down approach of equity?
BB T - FOT® ATE BPEIeD?
g. Whatis fundamental analysis?
SRR HIeRS Q0mdesd ?
h.  What is portfolio?
Bpeeztr@pedodne Howdesd?
i.  What is arbitrage?
B E3,023¢ OTWBeN?

j.  What is NAV?
NAV @0538ex1?
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k.  What is insider trading?
H030T Fdozwtdd Q0TWTe?

I.  What do you mean by investor's activism?
BRARZTITT 8,057 20TTED?

SECTION - B oo -

Answer any THREE of the following. (3x5=15)
ie5T SR ZIRVR e0Zda0.

2.

Briefly explain the investment decision process.
BRRE AGRFT 3,000y FogFeN DTOA.

What do you mean by Investors protection? Explain the role of SEBI in this regard.
THRTWITT TFFED egr3esd? 83 3T SEBI o038 &) HT0A.

10% bond with face value of Rs.4,000 is currently traded at Rs.4,200. Calculate the
following:

a) The Current yield

b) Market price, if yield is expected to go up by 2%

62.4,000 S»DeiSed 10% 2305 B3 80.4,20089 Slomotdd IEREW. SNSHrUs) S,
Tod:

Q) BJARB W0

©) 2% “290z0 B 0BT [wsged, 13

ABC Lid paid a dividend of Rs.15 per share. Earnings and dividends are expected to
grow at a rate of 20%. The required rate of return and current market price are 30%
and Rs.180 respectively. Is the share fairly priced?

ABC Ltd 3,8 Ze0ri 15 Som000ne oat08R:) @ ddd. nesnsh w3 oormeodne 20% o
23POBNT 2VeFONT. SNZITITN BTN BT B BA3 BTTE, 138 B3N 30% DR
02180 20h3d. Heds it FxvomRTNTIoIe?

Rank the following funds with the help of Sharpe index:

Funds Returns B S.D.(0)
A 15 1.5 12
B 17 1.6 14
C 13 0.75 1

The risk free rate of interest is 9%.
FoPE “WEFTIN AT0DR0T FYAT POG LT, B eedsdA:

AR ST B S.li(b)
2 I 15 15 12
o 17 1.6 14
2 13 0.75 11

0D (IFL0N) B0E WRRT 9%.
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SECTION - C 2ot - &

Answer any THREE of the following. (3x10=30)
3SASINLY desod Roets, w0g8d20.

I

10.

11.

Explain briefly the types of investment.
BRBFOD QNI o Fon LTORD.

Explain the methods of redressal of investor's grievances.
TLRTTVTT BOTERTINE HOTHTR DRI, DTOA.

Ganesh Ltd. has a 14% bond with a face value of Rs.1,000 that matures at parin 15
years. The bond is callable in 5 years at Rs.1,140. Itis currently selling for Rs.1,050.
Calculate the following:

a. Current Yield

b. Yield to call

c. Yield to Maturity

neoed QaoEE® 14% t305° ©83 8R.1,000 S0DBS BRODT & 15 IRENFY 3T BSeHO
VITMOZRE.  WOETEY, 5 ias'rieé@ 35.1,140% 83 BRBEWRTAC. FRZ W 8L.1,0507%
TRTWTMST. 6@?11:5,71?::1: 33, Tod:

R TR WHED

. IO 2EO

A, I0wDER 2T

Sudha Ltd paid dividend of Rs.6 per share last year. As an investor you are required
to find out the value of equity share if;

a) Growth rate is 7% and equity capitalisation rate is 12%.

b) Growth rate is 10% and equity capitalisation rate is 15%.

c) Growth rate is 15% and equity capitalisation rate is 20%.

d) Growth rate is 20% and equity capitalisation rate is 25%.

AR ©. 398 IR B8 ReOrt 6 TRTOWNE SHLOB TLIT. BRRFTToN Ve B384 RedT
m’a@am BOT&BROND. 2,080 Hew:

Q) VISR BT 7% I S48 WoBTLeFTd TS 12%.

Q) BTN IS 10% T2 5, B33, LWORTPEFTE? B3 15%.

B)  BIRAR 3T 15% =3y 4,83 woRmLedTs BT 20%.

R) WISE TS 20% Ty B3 WOBTVETTD TS 25%.

XYZ Ltd would pay Rs.4 as dividend per share next year. The dividend is expected

to grow perpetually at 12%. What would be the value of equity shares if the investors
expected return is 20%?

XYZ ©. 0p.43) ootmozan 2,8 Fe0rt 000 ST eROE. SeRo3w) 003N 12%

aamm@ﬁcm ROLEFCINT. BRRFTTT 0 BOD 20% ST 3583 Hedny IP,
QER,HZE?
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SECTION - D 22 - &

Case Study (Compulsory Question) (1x15=15)
2800 wgobs (3w 23)
12. Securities A and B yield the following returns for the past two years:
Year Return (%)
A B
2022 12 14
2023 18 12

a) What is the expected return on portfolio made up of 30% of A and 70% of B.
b) Find out the standard deviation of each stock.

c) Determine the portfolio risk of a portfolio made up of 40% of A and 60% of B.
D T W A0LINED YT 0T IRENRLOT 83 SYNT BTIODTIY, DeBGS:

bt 375903 (%)

) EX) _
2022 12 14
2023 18 12

2

‘D'0 30% R ‘W0 7 0% 0T SBS petIE gipedo3ne 32ed 20ed 8 Sr0ddEtesd?
8@ T,FT TRISE VOV, TORIEBOWD.
20T FPeestr FPeDdnets SF P[RR, @ 40% RZY W 60% 80T TRBQEN, EFOAC.

&

20

* k%




